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19524 LLRfT MY
| £ K & ouT IN GROSS HDCP NET
X 1[5 BE 41 39 80 13.1 | 66.9
* 2l 47 46 93 24.0 | 69.0
Y 3| K 42 A7 89 18.6  170.4
> 4|2 H ELT 43 46 89 18.6  70.4
Y 5[l yE 40 49 89 16.8 722
6|=H £R 42 44 86 13.6 724
%K% = 45 492 87 144 | 72.6
8|VEH % 45 A7 92 19.2 | 72.8
9=t Ik 40 43 83 10.1 | 729
*10°F Iz 45 50 95 22.0 | 173.0
11~ A& 43 43 86 12.0  74.0
12[= )50 =HBH 45 A7 92 17.1 | 74.9
13[AY; & 46 48 94 19.1 | 74.9
14[BFF e 45 50 95 19.7 | 75.3
15/ Fij ek 48 58 106 30.5 75.5
16[MH HlkbE 50 43 93 16.7 | 76.3
17{r) H £5EB 48 53 101 238 77.2
18| ALRES Ak 42 45 87 9.6 774
191 &3 41 48 89 115 1715
*20|)5 1 2 48 52/ 1000 20.9 | 79.1
21| EaAR FHeE 47 56 103 23.8  79.2
22| =% FoHI 41 49 90 10.5| 79.5
23’54 UnF- 51 A7 98 183 79.7
24| F K A 50 44 94 14.0 80.0
*25|H & 3B 46 49 95 14.2 @ 80.8
26112 = 47 49 96 152  80.8
27|17 K Erh 50 51 101 20.0  81.0
28K 1L Zd 43 46 89 79 8.1
29|GEIH HHE 53 52 105 23.4 | 81.6
* 30 A b 48 44 92 10.3 @ 81.7
31 el 43 51 94 12.0 82.0
2MEE & 48 55 103 19.8 | 83.2
33=H HHK 46 54/ 100 15.9 | 84.1
34|00 Sk 54 56 1100 25.2 @ 84.8
*35| AL A+ 54 54/ 108 22.0  86.0
36| L= fit— 53 54 107 205  86.5
GRS S 49 48 97 9.9 | 87.1
385 BHR 55 55/ 1100 21.7| 88.3
39;FH —HB 52 60 112 207 91.3
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¥ 1|kl w1~ 47 51 98 343 63.7
Y 2|l NE 46 492 88 18.1 | 69.9
* 3|k M 49 44 93 22.0  71.0
Y 4[/NEF A kE 41 43 84 120 720
* 57Kk g 44 50 94 921.8 722
P NI 36 41 77 45| 725
w1 =EA JEL 49 46 95 223 727
8|/% £ET 49 41 90 16.1 | 73.9
95318 IF— 41 46 87 12.8 | 742
*10|hfdi B— 41 41 82 7.2 74.8
1A% 13 44 42 86 10.6 75.4
12[/hbR FEER 45 48 93 17.3 | 75.7
13[FM FJA 41 38 79 31| 75.9
14|11y AikE 40 43 83 7.0 76.0
F 15[kl 2% 47 53 1000 239  76.1
16| =— 40 40 80 35| 765
17[=4K; 47 53 100 235  76.5
18| Fak A7 47 94 17.1 | 76.9
19l &BFE 47 50 97 199 | 77.1
*20[KE% R 40 36 76/ +1.6 | 77.6
21108 #1538 43 44 87 9.0 78.0
22| AKH Gk 44 44 88 99 781
23| wE 45 44 89 10.8 1782
24| ERATE #h— 49 51 1000 202  79.8
*25| k) 1a~E|3 44 50 94 14.1 | 79.9
26 ;c}ﬂaa “F 48 50 98 17.6 | 80.4
27| H 9\7:, 46 46 92 11.3 | 80.7
28| = 51 49 100 19.3 80.7
297 H 3%$ 55 50 105 24.0  81.0
* 30K 32— 50 56/ 106 24.6  81.4
3111 e 49 49 91 9.3 817
32|Vt WA 42 46 88 6.0 820
334655k 48 54 102 19.6 | 824
34|18 E XL 54 52/ 106 229 | 83.1
*35|EH ETAR 53 50 103 194 | 83.6
36|11~ T 51 A7 98 13.0 | 85.0
37 E S A 59 55 114 274 86.6
8 A B— 57 55 112 247 873
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